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If a die is rolled once, then the
probability that the appearance of a
number devisable by 3, known that
the appearing number is even equals
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If A and B are two independent events
from the sample space of a random
experiment such that P(A) =0.2 and
P(B) =0.6

Answer only one of the following

guestions:
(1) Find :P(A-B)

(2)Find :P(AUB)
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If X is a discrete random Tadaiia Ll getie Tt A S 13)

variable such that :

T0o X f6)) =4, (0O X o)
Y(x2 % f(x,) =25, thenits | Jaagd Yo =((, o) X o )X
coefficient of variation equals




If>x=35 ,X»y=60
Y xy=187 ,Yx%>=134
> y2=406 , n=10
Find the regression line
equation of y on x
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If Z is a standard normal variable
where P (Z = k) = 0.1980 , then the
value of k =
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Statistician studies the relation
between the ranks of two academic S (s Bal) Ay (Slas) a8
subjects for six students and i i
recorded the results in the following G4y Db A (il ol

table: b A gand) g

First c. E salall
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Second o
subject(y) | 8 | 1| 9| 7 s
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Calculate spearman’s rank Ll c lagmsed Gl Bl Jalaa dagl
correlation coefficient between the
two subjects.




The two mutually exclusive
events A and B are
independent if and only if
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P(A) x P(B) = zero
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P(A) X P(B) = 1
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P(A) x P(B) = P(AUB)
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P(A) + P(B) = P(ANB)
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If x is a discrete random variable
whose probability distribution is
given by the function f where:
fx) = 110 x€ {1,2 3k},
find the value of k.
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If x is a discrete random variable its
probability distribution is given as
shown in the following table :
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Find the value of [ , then calculate
the mean and the variance of the
discrete random variable x
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If x is a continuous random variable
where its probability density
function is :

o) = {1—12(2x+1) 0<x<3
zero otherwise

Find:P(1<x<4)
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The results of the study about the
relation between the quantity (y)
and the price of some goods (x) in
LE is shown in the following table :

Price (x) | 10 | 12 | 15 | 12 | 14
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Calculate Pearson’s correlation
coefficient between the two variables
and identify its type.
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|1F P(AY =3, P(ANB) =
then find P(B |A)
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If x is a normal random variable
with mean u = 45, its standard

deviation o0 =5 >=F
Answer only one of the ‘
following guestions: ; 2B (i) Gglhaal) aa) o Gl
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2)Find the value of k
such that :
P(x =>k)=0.5675 ,01Ve = (S~ )Y
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